

Opmerkingen: Zie §3.1.4, blz. 74 t/m 75, voorbeeld 2

Antwoorden 3.12-1:

a. $A = \frac{4}{3}ab$

b. $y_C = 0$

c. $z_C = \frac{3}{5}a$

Toelichting:

a. $z = \frac{a}{b^2} y^2$

$$A = \int_{-b}^b (a - z) dy = \left(ay - \frac{a}{3b^2} y^3 \right) \Big|_{-b}^b = \frac{4}{3} ab$$

b. $S_z = \int_{-b}^b \left(\frac{a+z}{2} \right) dA = \int_{-b}^b \left(\frac{a+z}{2} \right) (a - z) dy$ waarbij: $z = \frac{a}{b^2} y^2$

$$S_z = \left(\frac{a^2}{2} y - \frac{a^2}{10b^4} y^5 \right) \Big|_{-b}^b = \frac{4}{5} a^2 b$$

$$z_C = \frac{S_z}{A} = \frac{3}{5} a$$

Antwoorden 3.12-2:

a. $A = \frac{1}{3} ab$

b. $y_C = \frac{1}{4} b$

c. niet teveel werk?? Of betere manier?

Toelichting:

a. $z = -\frac{a}{b^2} y^2 + \frac{2a}{b} y$

$$A = \int_0^b (a - z) dy = \left(ay + \frac{a}{3b^2} y^3 - \frac{a}{b} y^2 \right) \Big|_0^b = \frac{1}{3} ab$$

b. $S_y = \int_0^b y (a - z) dy = \int_0^b y \left(a + \frac{a}{b^2} y^2 - \frac{2a}{b} y \right) dy = \frac{1}{12} ab^2$

$$y_C = \frac{S_y}{A} = \frac{1}{4} b$$

c. $S_z = \int_0^b \left(\frac{a+z}{2} \right) dA = \int_{-b}^b \left(\frac{a+z}{2} \right) (a - z) dy$

$$S_z = \int \left(\frac{1}{2} a + \frac{1}{2} z \right) (a - z) dy = \int \left(\dots y^2 + \dots y + \dots \right) \left(\dots y^2 + \dots y + \dots \right) dy = \dots$$

$$S_z = \frac{2ab(a-b)}{3}$$